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QUESTION DESCRIPTION

DEFINITION

Define the following terms.
(i) Census

(1)  Carrying capacity

(2 marks)

RESOURCE INTERPRETATION QUESTION

Using the illustration, answer the questions which follow.

Population, 1800 to 2100

Historical estimates of population, combined with the projected population
to 2100 based on the UN's medium variant scenario.

1.6 billion

1.4 billion

1.2 billion

1 billion

Our World
in Data

(i) China and India share 36.4% of the world’s total population which is 7.3 billion.

Suggest two possible reasons as to why these two countries have high population numbers.

(2 marks)

SHORT ANSWER QUESTIONS

@) Explain one measure governments can put in place to address the problem of traffic

congestion.

(2 marks)
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